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Question No. 1:

A traffic control engineer reports that 75% of the cars passing through a check point are from Riyadh city. If at this check point, five cars are selected at random.
(1) The probability that none of them is from Riyadh city equals to :
	(A)
	0.2373

	(B)
	0.9990

	(C)
	0.00098

	(D)
	0.7627


(2) The probability that  four of them are from Riyadh city equals to :

	(A)
	0

	(B)
	0.6045

	(C)
	0.3955

	(D)
	0.1249


(3) The probability that at least four of them are from Riyadh city equals to :

	(A)
	0.3627

	(B)
	0.2763

	(C)
	0.3955

	(D)
	0.6328


(4) The expected number of cars that  are from Riyadh city equals to :

	(A)
	1

	(B)
	0

	(C)
	3

	(D)
	3.75


---------------------------------------------------

Question No. 2:

A shipment of 20 digital voice recorders contains 5 that are defective. If 10 of them are randomly chosen (without replacement) for inspection. 
(5) The probability that 2 will be defective is:
	(A)
	0.2140

	(B)
	0.3483

	(C)
	0.6517

	(D)
	0.9314


(6) The probability that at most 1 will be defective is:
	(A)
	0.9998

	(B)
	0.1517

	(C)
	0.8483

	(D)
	0.2614


(7) The expected number of  defective recorders in the sample is:

	(A)
	1

	(B)
	2.5

	(C)
	3.5

	(D)
	2


Question No. 3:

The number of faults in a fiber optic cable follows a Poisson distribution with an average of 0.6 per 100 feet.
(8) The probability of 2 faults per 100 feet of such cable is:
	(A)
	0.3210

	(B)
	0.9012

	(C)
	0.0988

	(D)
	0.5


(9) The probability of less than 2 faults per 100 feet of such cable is:

	(A)
	0.8781

	(B)
	0.9769

	(C)
	0.2351

	(D)
	0.8601


(10) The probability of 4 faults per 200 feet of such cable is:

	(A)
	0.8024

	(B)
	0.1976

	(C)
	0.02602

	(D)
	0.9739


---------------------------------------------------

Question No. 4:

Given a standard normal distribution 
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	(A)
	0.0668

	(B)
	0.0606

	(C)
	0.9394

	(D)
	0.9332


(12) The area under the curve to the right of 
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	(A)
	0.0069

	(B)
	0.9931

	(C)
	0.0082

	(D)
	0.0173


(13) The area under the curve between 
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 is :
	(A)
	0.9325

	(B)
	1.0537

	(C)
	0.3425

	(D)
	0.6734


(14) The value of  k such that 
[image: image6.wmf]0427

.

0

)

k

Z

93

.

0

(

P

=

<

<

 is :
	(A)
	1.11

	(B)
	-1.11

	(C)
	2.03

	(D)
	-2.03


Question No. 5:

The average rainfall in a city for the month of March is 9.22 centimeters. Assuming a normal distribution with a standard deviation of 2.83 centimeters, Then the probability that next March, this city will receive:
(15) less than 11.84 centimeters of rain is:  

	(A)
	0.5

	(B)
	0.1762

	(C)
	0.8238

	(D)
	0.2018


(16) more than 5 centimeters but less than 7 centimeters of rain is:  
	(A)
	0.8504

	(B)
	0.34221

	(C)
	0.6502

	(D)
	0.1496


(17) more than 13.8 centimeters  of rain is:  
	(A)
	0.3101

	(B)
	0.9726

	(C)
	0.0274

	(D)
	0.4053


Question No. 6:

Suppose that the random variable X has the following uniform distribution:
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	(A)
	0.49

	(B)
	3

	(C)
	0

	(D)
	0.51


(19) 
[image: image9.wmf]=

>

)

25

.

1

X

(

P


	(A)
	0.5

	(B)
	1

	(C)
	0

	(D)
	0.33


(20)  The variance of X is
	(A)
	9

	(B)
	0.333

	(C)
	0.00926

	(D)
	0.6944


---------------------------------------------------

Question No. 7:

The length of time for one customer to be served at a bank is a random variable X that follows the exponential distribution with a mean of 4 minutes. 
(21) The probability that a customer will be served in less than 2 minutes is:  

	(A)
	0.9534

	(B)
	0.3935

	(C)
	0.6065

	(D)
	0.2123


(22) The probability that a customer will be served in more than 4 minutes is:  

	(A)
	0.6321

	(B)
	0.0012

	(C)
	0.4905

	(D)
	0.3679


(23)  The probability that a customer will be served in more than  2 but less than  5 minutes is:  

	(A)
	0.6799

	(B)
	0.5523

	(C)
	0.4018

	(D)
	0.32


(24) The variance of service time at this bank is
	(A)
	2

	(B)
	16

	(C)
	8

	(D)
	4


---------------------------------------------------

Question No. 8:

The average life of an industrial machine is 6 years, with a standard deviation of 1 year. Assume the life of such machines follows approximately a normal distribution. If a random sample of 4 of such machines is selected, then the sample mean 
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(25) has a mean 
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	(A)
	5

	(B)
	8

	(C)
	7

	(D)
	6


(26) has a  variance 
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 equals to:
	(A)
	0.25

	(B)
	0.5

	(C)
	1

	(D)
	0.75
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	(A)
	0.1587

	(B)
	0.8413

	(C)
	0.4602

	(D)
	0.5398


 (28) If 
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 is:
	(A)
	6.52

	(B)
	1.04

	(C)
	0.8508

	(D)
	0.2


Question No. 9:

A random sample of size 25 is taken from a normal population having a mean of 80 and a standard deviation of 5. A second independent random sample of size 36 is taken from a different normal population having a mean of 75 and a standard deviation of 3.then,
(29) 
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	(A)
	0.0037

	(B)
	0.2154

	(C)
	0.8508

	(D)
	0.2
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	(A)
	0.9972

	(B)
	0.1254

	(C)
	0.3451

	(D)
	0.0028
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